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Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 7x1=7

(Very Short Answer Questions)
Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
1 37l T ¢
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1) (i) Define logical address.

Logical address &1 GRHTT ax|

(i) What is kernel level thread ?
Kernel level thread &1 8 ?

(iii) Give examples of sharable resources.
Sharable resources & SGIEXUl G|

(iv) What is major problem with priority scheduling?
Priority scheduling & AT I3 FHRAT &7 § ?

(v) What is boot strap loader?
Boot strap loader &7 & ?

(vi) Name any two file system call.

f=At Q1 File system call & =19 foraT|

(vii) What is a Real-Time System?
Read time system &7 g ?

Section - B 4x6=24
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.

(Tvs - 7)
(oTg IR 99)
fAder: gl TR Ul & IR SNUI 3T 3o ITR Bl frepay
200 vregf B gRAfAT HIfTT| U UT 6 3 3T 2l
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Define operating system. Explain how operating system acts
as a resource manager.
Operating system &1 GRATST foRd| Operating system AT
USEIdh b ©U H hd PRI vl g ?

What is a process? What is the difference between a program
and a process? Explain PCB using a suitable example.
Process @7 g2 Program 3iR Process § @7 3R BIAT g ?

PCB &l IgTexvl Afgd 93|

What is CPU Scheduling? What is CPU bound and I/O bound
job? Give scheduling criteria.
CPU scheduling @1 €? CPU bound 3R 1/O bound &1 g ?
Scheduling criteria ® AISR |

What is deadlock? What are the necessary conditions for
the deadlock? What is the method to avoid deadlock in the
system?

Deadlock @7 §? Deadlock &7 3maegd o am 22 Riew §
Deadlock & §39 & dxId] Bl AHSTRI|

Explain the difference between logical and physical address
space. Explain fragmentation.

Logical 3R Physical address spaceff TR IAR | Fragmentation
B AIIR|

Differentiate between the purpose of using cache memory &
virtual memory.
Cache memory 3R virtual memory 7 Gﬁ%ﬂ g 3R gar|
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8) What is directory? Explain tree and acyclic graph directory.
Directory @1 g ? Tree 3iR acyclic graph directory &t THsT |

9) What do you understand by Belady’s anomaly? Explain with
an example.
Belady’s anomaly ¥ 319 dIT SI92A 8 ? SQIER0l Afed STHR |

Section-C 2x12=24
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
12 marks.

(s - 4)
(Sref STRIT ¥ed)
fAder : fh=gl g yeAl & ITR SITI 3T U ITR B Aferpad 500
gegl H ufRAfT BT 21 Tl 99T 12 3l ol gl

10) Consider the following set of process with the arrival time and

CPU burst time given in milliseconds.

f=1feTRaa process & e W & T arrive time 3fR CPU burst
time (ffeT Fps) W IR aR|

Process Arrival time CPU burst time
P1 0 24

P2 3 7

P3 5 6

P4 10 10

Determine the average waiting time and average turnaround
time for these processes with the FCFS and SJF.

3dd Process & foru Average waiting time 3R average
turnaround time @7 A FCFS 3R SJF & W1 UaT a|

CS-04/IT-04 /200 /5 (4) (Contd.)



799
11) What are different operations performed on file? List the
attributes of file.

Higed TR U U fARMT JTIRIT &7 8?7 Higed &I fAAwdr i
eGP

12) What are the benefits of threads? Explain context switching of
processes and threads.

Threads I T o9 %? Process 3R Threads & context
switching B AHSHR|

13) Consider the following snapshot of the system.

ey & Fule W R & :-
Allocation Max Available
Process A B C A B C A B C
PO 1 0 0 6 5 3 4 3 2
P1 2 00 3 2 2
P2 3 0 2 9 0 2
P3 1 2 1 2 2 2
P4 01 2 4 2 3
a) Is the given state is safe?
T feaT ¢ state safe g7

b) If a request from process P1 arrives for (1, 0, 2), can the
request be granted immediately? What is the content of
Need matrix ?
3R P1 UfHAT A Th request (1, 0, 2) 31Tl g AT &= request

TdchleT TN gRfT? Need matrix & content &T 81 ?
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